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530: MODERN POLITICAL SYSTEM  
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                   SECTION – A  

                  Answer any FIVE questions. 

 
 (5   8 = 40) 

 

1.  Explain the term monarchy. 

2.  Write a note on Parliamentary System. 

3.  Discuss the role of House of Lords. 

4.  Give an account on Judicial Review in USA. 

5.  Evaluate the functions of National Assembly in France. 

6.  Review the main features of federal Tribunal in Switzerland. 

7.  Describe the term ‘Referendum’, in Swiss. 

8.  Bring out the role of Communist Party of China. 

     

SECTION – B  
                                      Answer any THREE questions.             (3   20 = 60) 

 
9.  Describe the role of speaker in British Parliament. 

10.  Analyse the merits and demerits of theory of separation of powers. 

11.  Compare the functions of USA and UK Committee System. 

12.  Discuss about the functioning of Direct Democracy in Switzerland. 

13.  Summarize the method of election and powers of the French Preisdent. 
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jkpHhf;fk; 
 

                       gFjp - m  
                                     vitnaDk; Ie;J tpdhf;fSf;F tpilaspf;ft[k;.  

 

(5   8 = 40) 

 

1.  Koahl;rp vd;gjd; bghUis tpsf;Ff. 

2.  ghuhSkd;w Kiw gw;wp Fwpg;g[ vGJf. 

3.  gpug[f;fs; rigapd; g';fpid tpthjpf;f. 

4.  mbkhpf;f If;fpa ehl;od; ePjpg;g[zuha;t[ gw;wp vGJf. 

5.  gpuhd;!; ehl;od; njrPa rigapd; bray;ghLfis kjpg;gpLf. 

6.  Rtpl;rh;yhe;J Tl;lhl;rp ePjpkd;wj;jpd; rpwg;g[ mk;r';fis Muha;f. 

7.  Rtp!; ehl;od; Fobahg;gk; vd;gjpd; Kf;fpaj;Jtj;ij tphtpf;f. 

8.  rPdhtpd; bghJt[ilik fl;rpapd; g';fpid btspf;bfhzh;f. 

 
gFjp - M 

   vitnaDk; _d;W tpdhf;fSf;F tpilaspf;ft[k;.  
 

9.  ,';fpyhe;J ghuhSkd;wj;jpd; rghehafhpd; g';fpid tpthpf;f. 

10.  mjpfhug; gphptpid nfhl;ghl;od; epiwfs; kw;Wk; Fiwfis gFj;jha;f. 

11.  mbkhpf;f If;fpa ehl;od; FG Kiw kw;Wk; ,';fpyhe;J ehl;od; FG Kiw - 
,itfspd; bray;ghLfis xg;gpLf. 

12.  Rtpl;rh;yhe;jpd; neuo kf;fshl;rpapd; bray;ghl;il Muha;f. 

13.  gpbu";R FoauRj; jiythpd; njh;jy; Kiw kw;Wk; mthpd; mjpfhu';fis 
bjhFj;J vGJf. 
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